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Example 4.1:

• A 220/100-V transformer has a total resistance of 2 Ω and a total

leakage reactance of 3 Ω both referred to the primary.
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leakage reactance of 3 Ω both referred to the primary.

• The secondary current is 10 A.
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• Find the regulation at zero power factor lag
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• Find the regulation at unity power factor
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• Find the regulation at zero power factor lead
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• Find the power factor which gives maximum regulation

56.3L Tφ φ= = �
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p.f. = cos cos56.3 0.56 lagLφ = =�



• Find the maximum regulation
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• Find the power factor which gives zero regulation

90L Tφ φ− = �

90 90 56.3L Tφ φ= + = +� � �
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Example 4.2 

• A single-phase transformer is rated at 10 kVA, 240/100 V

• When the secondary terminals are open-circuited and the primary

winding is supplied at normal voltage, the input current is 2.6 A at a
power factor of 0.3 lag

1 2240 V, 100 V, 10 kVArated rated ratedV V S= = =
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• When the secondary terminals are short-circuited, a voltage of 18 V
applied to the primary causes the full-load current to flow in the

secondary, the power input to the primary being 240 W.
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• Calculate, at full load unity power factor, the:

• regulation
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• Calculate, at full load unity power factor, the:

• efficiency
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